
ASSEMBLY & INSTRUCTION MANUAL

IMPORTANT, RETAIN FOR FUTURE REFERENCE: READ CAREFULLY

INcqc048V01_GL

836-345_836-346





G  1 H  1

①  1 ②  1

③  1 ④  2

⑤  1 ⑥  1

A  4

M6*45
+1(spare)

B  8

M7*60
+1(spare)

C  3

M7*38
+1(spare)

D  1

M0*00+1(spare)

E  1

M0*00+1(spare)
F  3

M6*25
+1(spare)



02

01



04

03



05

D
one




	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

